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ferd Alct, W faga varfed &) WR 27 U AL
ST BT 2 | fhaer B &) mazasdar = |
THE 2T A STP WR FlA 49 @t fha-
H=T el |

OR (3121a1)

What do you mean by Quantum number. Write
down all Quantum number for valence electron of

nitrogen.

FalcH AEgT | AT RT IS 2 | ATSSIo
@ GaIoll sdde™ & 9l Fared gar ford |

E

NT12002 1601102/1602202/P1601102
2019(0dd)

Time : 3Hrs. Sem - I/I1
Basic Chemistry

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

OR(3721d)

Resistance of conductivity cell filled with 0.1m K¢t

solution is 100 ohm. The conductivity of 0.Im Kc{

is 2x10-4 ohm-1 cm-1. Calculate molar

conductivity

0.1m Ket o9 & wR gU drdddl d9d &I

gfaxier 100 309 2 10.1m Kl faera= &1

ATddhdl 2x10-4 ohm-! cm-1 2 | HIelR ATcidhdl

gReferd IS |

How can domestic waste be used as manuare ?

Explain Antartica ozone hole.

R, IURTE f6y ysR @ik & ®U A &M
AT ADHd B2 IJvCIHICHT Ao B B A==

B |

NT12002

(i)

(iii)

(iif)

(iv)

3 1601102/1602202/P1601102

dic HNO, & 91 ImRel ffdsa g8t
SITdT @ I8 JAGIsS & ol 84 @
HRYT BT & | Frifea & a9 | 872
(31) & 3R Bragaa

() @@ 3R 3fow

(¥) IR&S AR Brawg

(]) IR&® AR AfBT

In hydrogen atom the energy of first excited
state is - 3.4 ev. Find out K.E of the same
orbit of H-atom

(a)-3.4ev

(b)+3.4ev

(c)-6.8¢ev

(d)+6.8ev

BIggIo{ URATY] § Y| Idfora rawer
# Solf &1 719 - 3.4 ev 2| S &1 A
Tfast St &1 79 T  ?

(31 -3.4ev

(@) +34ev

(|)-6.8ev

(?) +6.8ev

Which of the following has highest ionic
character
(a) Mgcl,
(b) Cacl,
(¢) Bacl,
(d) Becl,

P.T.O
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OR(eora) vi)  Frifea § 9 G¥HRoT o1 Sy
How much electricity in terms of Faraday is 2?
required to produce (31) Mn
(i) 1 mole of MnOy to Mn++ () Pm
(ii) 1 mole FeO to Fe,0, (&) Te

(=) Sc
fr=tifea A feaar wrs faga @) smagasdrn
ghfYy ? (vii)  In the extraction of iron from red haematite
the limestone acts as

: - + 7
(i) 1 /e MnOy &1 Mn*+ ¥ (a) Reducing agent

(ii) 1 ¥l FeO @l Fe,0, ® (b) Flux
(c) Slag
8. Write down cell reaction (d) Gangue
(i) Cr|Crt++ ||Pbt |Pb (i) IS BATCTIC IATH W INRVT & Framsor
] A argueed f&a ®u & yyad gar 2
(if) Fe| Fe++ || MnOZ [ Mn++ 6 (@1) raBRD
(9) werarm
Ao afifpar fad | () emgHe
() srafe

(i) Cr[crt++ |[pb++ |Pb
(viii)  Depletion of ozone layer causes
(ii) Fe| Fet+ | |MnOZt | Mn*+ (a) Blood cancer
(b) Breast cancer
(c) Lung cancer
(d) Skin cancer

P.T.O
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4. Elucidate effects of depletion of ozone layer
4

AT URd & & &I 991d & aR F ford |
OR(3721dT)

What is the difference between L and £ used in

atomic structure

YRAT] AT H Ygad Gad L3R L Fa
IR B ?

5. Why KO, is paromagnetic ?
KO, URTgH®II a4l ghar 27
OR(37214T)

How much Faraday is required to deposit 27 gm of
Al by electrolysis of molten ALCL, ?

Tferd AUCL, & g 3deed 9 27 U AL &I
ST 8l ¥ AaITPd HRIS BT d1- a1 8T ?

NT12002

x)

(xi)

(xi)

(xii)

7 1601102/1602202/P1601102

VAfET § €1 MTATSS BT JAABIOT
foa® gr1 BIdr 2|

(@n) C

(3) co,

(\) Mg

(@) Al

Neoprene is the polymer of
(a) Isoprene

(b) Butadiene

(c) Chloroprene

(d) None

ety foas agas 27
(31) arzEId=

(@) =ereTe

(&) FeRId=

(?) ®ig T

Which of the following on heating does not
give oxygen

(a) Zn (NOy),

(b) NaNO,

(c) NH,NO,

(d) None

P.T.O
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(xx) AT 3] B 3rpfa T 2 |
(3r) e
(@) PSR g9
(W) agberd
(?) ®1g =

GROUPB

Answer all Five Questions.

gl 9fg yol & S<x | =20

2. Name four gases which are responsible for green
house effect.

FRA I8 Y919 & IR A9 &1 a9 fad |

NT12002 9 1601102/1602202/P1601102
xiv) fr=ifea 9 9 9 st 4 smafe
984 AR HEEIlGd Il 27
(31) KCl1
(¥) H,0
(|) CaC,
() HCN

(xv)  Which of the following is present in solder
(a) Cu+Zn
(b) Cu+ Sn
(c) Pb + Sn
(d) None

xv) A fyserg 9 frifea 7 a9 9 8?
(31) Cu+Zn
(€) Cu+Sn
(|) Pb + Sn
() ®ig TEl

(xvi)  The number of radial node in 4d Subshell is
(@0
(b) 1
(©)2
(d)3

P.T.O
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